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THIRD MID TERM TEST 2025

ITimeAllowéd:l.O{IHours] | MATHEMAT'CS

- 10.

11,

12.

The number whlch has lts own remprocal is —

simplifye 1-3-3

_Add = and —_

PART - |

Choose the correct anSwe'r.

There are positive integers from -5 to 6.

3 units tb' the left of 1is

a) b) -3'-"_"c)'-2--- 4 3
'?Fm in the blanks : ' | S

8+ = crmemeimeen

9

IS an mteger whlch is nelther positive nor negatwe
46 is the
Area of the nght angled tnang!e = e sq. UNits.
PAﬁT- !

side of -35 on the number hne :

_ IAnswel" any four of the following questidns; Q.No.16 is -cbmpulso}y.

5
4 6
3.

3 5

[Max. Marks : 30

10x1=10

&) 5 RS T R R SRR T
" The reciprocal of 2 59
17
‘a) .53 ‘ .b) 5_3.._ "~ ©) 1_? '_ 5 d) 131-
17 CoAT N X} _ 17
If every ,side of a redtang[e is dqubled, thei'i its area becomes --———- times.
a) 2 . N g 3 '-c) 4 “d) 6
If two identical rectangles of penmeter 30 cmis jomed logether then the penmeter of the new
 shape will be _ | |
| a) equalto60cm . ._ : B ks b) less than 60 cm
¢ =9feafe' than6Oem = .° o . d) equal to 45 cm

 4x2=8
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13.
14,
15.
16.

17.

18.

19.
20.

21

22.

Find the perimeter aed area of the shape. -

A square park has 40m as its perimeter.
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Put the appropriate sugns as <, > or = |n the line. (i) -8 --———— -7

(i)) O =em--—= -200,
Mark the numbers 4 -3, 6, -1 and 5 on the number line. '
Write all the integers between -5 end 4
The side’ ofa square is 5 cm. Find |ts penmeter
~(OR)
Multiply:3 2 x1 1
T 13..» :
PART - Il
AnsWer any four of the following quesuons. W.No. 22 is compulsory. 4x3=12

An oil.tin contains 7 ¥z litres of oil which is poured 2 Vz litres bottles. How many bottles are
required to ﬁll 7 1Aelltres of oil?

Arrange in ascending order, i _1_ and i
' 3. 6° 9 |
Find the perimeter and area of a' rectangle of length 12 cm and breadth is 7 cm.

Gowri purchased 3 ‘/z kg of tomatoes, 314 kg of brinjal-and 1 % of onion. What is the total
weight of the vegetables she bought’?

Arrange the following integers in descending order.
111, -222, 333, 444, 555, -666, 777, -888.

" ©OR) . W

15 cm.

What is the length of its side? Also find its area. I

0cn. - 12em
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